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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championship tournament. Shawn Pickrell, Jason Mueller, Marie Suter, Marian Suter, Adam Fine and Dan Goff are the authors of these questions, which were further reviewed by Pickrell, Fine, Mueller, Suter, Goff, Raj Dhuwalia, Dave Reinstein, Alex Drake, Billy Beyer and Lee Henry. 

These questions may not be released AT ANY TIME to entities outside the tournament, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. 
First period: 15 tossups, 10 points each

1.
Men-ta-lis, ri-sor-i-us, or-bi-cu-la-ris oris, le-va-tor labii (lab-EE-ee) su-pe-ri-or-is, and depressor labii in-fe-ri-or-is are muscles that move what body parts?

ANSWER:  lips

2.
What substance often used in welding has a molecular mass of 26 and chemical formula C2H2?

ANSWER:  acetylene or ethyne
3.
This poem’s conclusion begins:  "So live, that when thy summons comes to join / The innumerable caravan which moves / to that mysterious realm. . ." What was this poem written by William Cullen Bryant?

ANSWER: “Thanatopsis”

4.
It is the bovine equivalent to the Psoas (SOH-us) major in humans.  It can be found along either side of the cow's spine, and its total weight is about five pounds in the animal.  The smaller side of a Porterhouse steak contains meat from what portion of the cow, which when cut into smaller servings is often called filet mignon (min-YOHN)?
ANSWER:  tenderloin (accept "filet mignon" until the end)

5.
This island has a population of around 750,000 and contains cities such as Campbell River, Nanaimo (nah-NYE-moh) and Victoria. It is over 12,000 square miles and is actually the largest island on the Pacific coast of North and South America. What Canadian island does not contain, but shares a name with, British Columbia’s largest city? 

ANSWER: Vancouver Island

6.
It can mean a coarse fabric, an African baboon, a machine for sowing seed in a small furrow, to train in military routines, to bore a hole in something, or a tool that bores a hole. What is this five-letter word?

ANSWER: drill
7.
At them, parents will often thank God that they are no longer responsible for their children’s sins. In 1922, Judith Kaplan became the first young woman to receive an equivalent ceremony. Kirk Douglas had a second one at age 83, “threescore and ten” years after his first. Meaning “son of the covenant” in Hebrew, what term describes either a young Jewish man that has turned 13 or the accompanying celebration? 

ANSWER: bar mitzvah (accept, grudgingly, bat mitzvah) 

8.
They can be conified or unconified, and in flat areas consist of alluvium. The largest in the United States is the Ogallala, which covers an area extending from South Dakota to Texas, and whose depletion is occurring at the same time as a large drought. What is the term for a layer of permeable rock from which a well can extract groundwater?

ANSWER: aquifers

9.
The right background of the painting shows two tracks in the grass leading to a house in Cushing, Maine, with a barn to the left.  Betsy James, the painter’s wife, introduced him to the girl dressed in pink in the foreground with her back to the viewer; she is lying on the ground because she suffered a paralyzing muscle condition.  Identify this 1948 painting, the foremost by American Andrew Wyeth.

ANSWER:  Christina’s World
10.
 Its first ruler was Sabah I, who built a fort on the ocean in the late 17th century; in fact, its name is taken from the Arabic for “small fortress near water.” Pearl diving from the Persian Gulf provided most of its income through the 18th and 19th century, and oil was discovered in the 1930s. However, alleged attempts to increase its oil income from slant drilling led Iraq to invade what nation on August 2, 1990, sparking the Gulf War?

ANSWER: Kuwait

11.
Ivory Coast, Reston, Sudan, and Zaire are the four species of what filovirus closely related to the Marburg virus that has an 80 percent fatality rate?

ANSWER:  Ebola virus

12.
THIS IS A COMPUTATION QUESTION.  Excluding the special case of “1”, what is the eighth prime number?

ANSWER:  19
13.
In one of his works, Satan writes his fellow angels about the shameless pride and foolishness of humans. Letters from the Earth, described earlier, is one of the lesser-known works of what author of The Gilded Age, The Prince and the Pauper and The Adventures of Tom Sawyer?
ANSWER: Mark Twain or Samuel Langhorne Clemens

14.
He was discovered as a 17-year old by Juan Marichal and signed to a $2,000 bonus.  A hand injury slowed his early Major League development, as he struggled to hit above .200, but by 2000 he began a stretch of 30 home run and 100 RBI seasons that eventually led to the AL MVP award in 2002.  Rumors of a trade were squelched in January, when he expressed his intent to remain with his club for the “rest of his career.” Who is this shortstop for the Baltimore Orioles?

ANSWER:  Miguel Tejada
15.
As a major general of Ohio volunteers, he refused to run for Congress, saying any officer who left to run for office “should be scalped.” In two terms as governor, his honesty earned him the nickname “Old Granny.” What President’s most notable domestic achievement was ending Reconstruction, doing so after winning the disputed election of 1876? 

ANSWER: Rutherford B. Hayes

Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
What queen of Egypt was the first wife of the pharaoh Akhenaten? 

ANSWER: Nefertiti
1B.
THIS IS A COMPUTATION QUESTION.  What is the prime factorization of 154?

ANSWER:  2, 7, 11 (in any order)

2A.
Sheriff Jack Potter goes to San Antonio to marry his mail-order bride in what Stephen Crane short story?

ANSWER: “The Bride Comes to Yellow Sky”
2B.
What power is temperature raised to in the equation for the Stefan-Boltzmann law?

ANSWER:  four
3A.
What team defeated the Pittsburgh Steelers in Super Bowl XXX (thirty), tying the 49ers’ record for most Lombardi Trophies? 

ANSWER:  Dallas Cowboys (accept either)

3B.
In The Odyssey, who kills Cassandra, the daughter of Priam?

ANSWER: Clytemnestra (cligh-tem-NES-trah)

4A.
THIS IS A COMPUTATION QUESTION. How many points are scored in a turn of darts when the areas hit are triple 6, double 12, and 17?

ANSWER:  59
4B.
 James Garfield defeated what opponent by a mere 2,000 popular votes in the 1880 Presidential election?

ANSWER: Winfield Scott Hancock
5A.
What term refers to the reactant used up first in a reaction, thus making the reaction stop?

ANSWER:  limiting reagent
5B.
What did Jesus Christ describe in the Gospel of Matthew as the "smallest of all seeds," which would then become "the biggest of all plants?"

ANSWER: the mustard seed

6A.
What favorite son of Priam killed Patroclus before Achilles killed him and dragged his corpse around the walls of Troy?

ANSWER:  Hector
6B.
According to National Public Radio, up to 20 members of Congress are still being investigated in connection with what lobbyist convicted of fraud, tax evasion and conspiracy to bribe public officials?

ANSWER: Jack Abramoff
7A.
His father, who had the same name, was the founder of Winchester, Virginia. What Revolutionary War general was Virginia’s governor from 1796 to 1799 and is the namesake of a VHSL member school?

ANSWER: James Wood
7B.
While the US President lives on Pennsylvania Avenue, Number Ten on what street in London is the home of the UK’s Prime Minister?

ANSWER: Downing Street

8A.
THIS IS A COMPUTATION QUESTION. What is the integral of 6x squared in the interval from 1 to 4?

ANSWER:  126
8B.
THIS IS A COMPUTATION QUESTION. What is the diameter of a circle with an area of 361 pi square yards?

ANSWER:  38 yards
9A.
To the nearest degree, what is absolute zero on the Celsius scale?

ANSWER:  minus 273 degrees
9B.
What does ACL stand for when referring to a commonly-injured part of the knee?

ANSWER:  anterior cruciate ligament
10A.
Tybalt (tih-bult) kills what FIRST character to die in Shakespeare’s Romeo and Juliet?

ANSWER: Mercutio
10B.
The Munro family, Uncas, Chingachgook, and Hawkeye or Natty Bumpo are all characters in which James Fenimore Cooper novel?

ANSWER: The Last of the Mohicans
Third period, 15 toss-ups, 10 points each
1.
Since its inception in 1959, it has only been rain-shortened three times.  Drivers have won from the pole nine times, including Jeff Gordon in 1999 and Dale Jarrett in 2000.  Unlike other races in the series, only the top two drivers qualify for it based on time trials - the rest qualify based on their finish in two races.  NBC broadcasted, for the last time on February 19th, what Great American Race?

ANSWER: Daytona 500
2.
This city is the headquarters of Micron Technology and the grocery store chain, Albertson's. Its population is now over 208,000 people, making it larger than Spokane and Tacoma, and the third-largest city in the Pacific Northwest. It is also known for its 30,000-seat college football stadium, Bronco Stadium, with its unique blue field known as “Smurf Turf.” What city is the capital of Idaho?

ANSWER: Boise, Idaho

3.
He is an orphan brought to live at Wuthering Heights by Mr. Earnshaw. He falls intensely in love with Mr Earnshaw’s daughter, Catherine, but because of her desire for social prominence, she marries someone else. What intense, brooding character spends most of the rest of his life seeking revenge on Catherine and her family in the Emily Brontë novel Wuthering Heights?

ANSWER: Heathcliff
4.
When potassium and ammonium are mixed with this ion, the resulting compounds are used in fertilizers. What is this ion with charge of negative one and the formula NO3?

ANSWER:  nitrate ion (do not accept “nitrite”) 

5.
The two names this language calls itself are translated into English as “official speech” and “Northern Dialect.” Its English name comes from a Portuguese word that means “minister” as it was the court language at the time of European contact with its speakers. Around eight hundred fifty million people speak what official UN language, a dialect of Chinese? 

ANSWER: Mandarin Chinese (prompt on “Chinese”)

6.
From the Greek for swift, what term is given to a theoretical particle that travels faster than light?

ANSWER:  tachyon
7.
His third marriage, to Valeria Messalina, ended with her marrying her lover and forgetting to divorce him. His fourth marriage to Agrippina was scarcely better, as she poisoned him so her son, Nero, could – and did – become the next Emperor. What Roman Emperor, under whom Britain was conquered, is today thought to have had cerebral palsy and ruled between 41 and 54 AD? 

ANSWER: Claudius
8.
The historical person behind the legends seems to have been a German charlatan who sold his soul to the devil. Name this subject of stories by Marlowe and Goethe (ger-tuh).



ANSWER:  Doctor Faustus 

9.
In earlier Hindu accounts, he was the king of the gods and savior to the people, as he slew the dragon Vritra (v’-REE-tra), splitting him open to allow water to fall from the sky.  He was replaced by Vishnu and Shiva and portrayed as weak from drinking too much soma.  Who was this thunder-god and father of Arjuna who at one point kept all of the slain warriors in his palace at Svarga?

ANSWER:  Indra
10.
In 2004, this party nearly elected Rick Jore to the Montana state legislature, but a court ruling on disputed ballots invalidated that. It has attracted mostly “fed-up” Republicans due to its strong opposition to illegal immigration and its plan to replace the income tax with a national sales tax. What party, founded by Howard Phillips as the U.S. Taxpayers Party, was represented in the 2004 Presidential election by Michael Peroutka? 

ANSWER: Constitution Party (accept U.S. Taxpayers Party until it is mentioned)

11.
Legends hold that he brought the potato to Ireland in the 1580s, and that while smoking tobacco, he received a soaking from a servant who had never seen tobacco smoke before. However, after the death of Queen Elizabeth, he fell out of favor, and was eventually beheaded in 1618. Who allegedly threw his coat over a puddle for Queen Elizabeth to cross and lives on today in the name of the capital of North Carolina? 

ANSWER: Sir Walter Raleigh
12.
A shipwreck and Indian captivity delayed this fictional character’s arrival in the New World, when he then finds his wife has had an affair and a daughter from it. After visiting his wife in jail, he vows revenge on her lover. By the end of the novel, his anger faded to the point that he left his entire fortune to his wife’s daughter, Pearl. What character in Hawthorne’s The Scarlet Letter was the husband of Hester Prynne?

ANSWER:  Roger Chillingworth
13.
The lap variety of this instrument has six strings, the pedal variety has between nine and thirteen strings and the dobro can be considered a variety as well. What instrument, frequently used in country music, is put on a flat surface so it can be played with a metal pick?

ANSWER: steel guitar
14.
THIS IS A COMPUTATION QUESTION. What is the volume of a cube with a surface area of 12 square centimeters?

ANSWER:  2 square roots of 2 cubic centimeters (accept 2 times the square root of 2, or 2 to the 3/2 power)

15.
Mycology is the study of what type of organism that has its own kingdom whose members include mushrooms?

ANSWER:  fungi or fungus
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.
 Since 2000, this county has added 82,700 people to its population, an increase of 49 percent. What county, that contains Middleburg and Leesburg, is the fastest-growing county in Virginia and is located to the west of Fairfax County?

ANSWER: Loudoun County

2.
THIS IS A COMPUTATION QUESTION. What is the ERA of a pitcher who allows 75 earned runs in 180 innings?

ANSWER:  3.75
3.
In the 1950s, it was made of magnetic ceramic rings known as a "core," but today it is made of semiconductors. A small amount of it, known as a "cache," is contained on CPUs to increase speed. What part of a digital computer also comes in "read-only" and "random-access" varieties, and stores data, such as computer programs, so it can be accessed more rapidly than from a hard drive? 
ANSWER: computer memory (accept "random-access memory" before "read-only" is said, as "cache RAM" is an acceptable term.) 

4.
As commander of the Irgun (eer-GOON), he was accused of involvement with 1948’s Deir Yassin (yah-SEEN) massacre, but he encouraged Irgun members to join the Israeli Defense Forces. In 1973, his Herut (hay-ROOT) party merged with other political parties to form the Likud (lee-KOOD) party. In 1977, who became Prime Minister of Israel, signing the Camp David Accords two years later? 

ANSWER: Menachem (meh-NAH-hem) Begin

5.
In Conrad’s Heart of Darkness, name the man who is chief of the Inner Station and the object of Marlow’s quest on the Congo River.

ANSWER: Mr. Kurtz
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

